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Prefix Symbol | Multiplying | Example
factor

deci d 107! 1 decimeter (1dm)= 10"'m
=0.1m

centi- C 1072 1 centimeter (lcm)= 107
0.01m

Milli- | p 107 1 millimeter (Imm)= 10~ m=
0.001m

micro— | K 107 1 micrometer (um)= 10°m

nano- | N 107 1 nanometer (nm)= 10~m




pico— P 10712 1 picometer (pm)= 10" %m
femto- |F 107" 1 femtometer (fm)= 10"°m
deka- |da 10! 1 dekameter (dam)= 10'm
hecto- |h 10* 1 hectometer (hm)= 100m
Kilo- |k 10° 1 kilometer (hm)= 100m
Mega- |m 10° 1 megameter (Mm)= 10°m
giga- g 10° 1 gigameter (Gm)= 10°m
tera- |t 10" 1 teameter= 10"’m

peta— P 10" 1 petameter= 10"°m
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